

GENERALIZED BERNSTEIN-CHLODOWSKY POLYNOMIALS

A.D. GADJIEV, R.O. EFENDIEV AND E. IBIKLI

ABSTRACT. For given positive integers n and m , the following generalization of Bernstein-Chlodowsky polynomials is studied,

$$B_{n,m}(f, x) = (1 + (m-1)\frac{x}{b_n}) \sum_{k=0}^{[n/m]} f\left(\frac{b_n k}{n - (m-1)k}\right) \cdot C_{n-(m-1)k}^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-mk},$$

where b_n is a sequence of positive numbers such that $\lim_{n \rightarrow \infty} b_n = \infty$, $\lim_{n \rightarrow \infty} (b_n/n) = 0$, $0 \leq x \leq b_n$ and $[p]$, as usual, denotes the greatest integer less than p . A theorem about convergence of $B_{n,m}(f, x)$ to $f(x)$ as $n \rightarrow \infty$ in weighted space of functions f continuous on positive semiaxis and satisfying the condition $\lim_{x \rightarrow \infty} (f(x)/(1+x^2)) = K_f < \infty$ is established.

1. Let $\rho(x) = 1+x^2$, $-\infty < x < \infty$ and B_ρ be the set of all functions f defined on the real axis and satisfying the condition $|f(x)| \leq M_f \rho(x)$ with some constant M_f , depending only on f . By C_ρ we denote the subspace of all continuous functions belonging to B_ρ . Obviously, we may convert C_ρ and B_ρ into normed linear space by introducing the following ρ -norm

$$\|f\|_\rho = \sup_x \frac{|f(x)|}{\rho(x)}.$$

Also, let C_ρ^0 be the subspace of all functions $f \in C_\rho$ for which $\lim_{|x| \rightarrow \infty} (f(x)/\rho(x))$ exists finitely.

The properties of linear positive operators acting from C_ρ to B_ρ and the Korovkin type theorems for them have been studied by the first author who has established the following basic theorem, see [3, 4].

Received by the editors on January 29, 1996.

Key words and phrases. Linear positive operators, Bernstein-Chlodowsky polynomials, Korovkin theorems, ρ -norm .

Theorem A. *Let the sequence of linear positive operators L_n , acting from C_ρ to B_ρ , satisfy the conditions*

$$\lim_{n \rightarrow \infty} \|L_n(t^\nu, x) - x^\nu\|_\rho = 0, \quad \nu = 0, 1, 2.$$

Then, for any function $f \in C_\rho^0$,

$$\lim_{n \rightarrow \infty} \|L_n f - f\|_\rho = 0,$$

and there exists a function $f^ \in C_\rho \setminus C_\rho^0$ such that*

$$\lim_{n \rightarrow \infty} \|L_n f^* - f^*\|_\rho \geq 1.$$

Note that, in [4], the theorems of this type are studied for more general functions $\rho(x)$.

Now let α_n be the sequence of positive numbers such that $\lim_{n \rightarrow \infty} \alpha_n = \infty$ and

$$\|f\|_{\rho, [0, \alpha_n]} = \sup_{0 \leq x \leq \alpha_n} \frac{|f(x)|}{\rho(x)}.$$

Also let T_n be a sequence of linear positive operators such that

$$\lim_{n \rightarrow \infty} \|T_n(t^\nu, x) - x^\nu\|_{\rho, [0, \alpha_n]} = 0, \quad \nu = 0, 1, 2.$$

Then applying Theorem A to operators

$$L_n(f, x) = \begin{cases} T_n(f, x) & \text{if } 0 \leq x \leq \alpha_n \\ f(x) & \text{if } x > \alpha_n, \end{cases}$$

we obtain

Theorem B. *Let the sequence of linear positive operators L_n , acting from C_ρ to B_ρ , satisfy the conditions*

$$\lim_{n \rightarrow \infty} \|L_n(t^\nu, x) - x^\nu\|_{\rho, [0, \alpha_n]} = 0, \quad \nu = 0, 1, 2.$$

Then for any function $f \in C_\rho^0$,

$$\lim_{n \rightarrow \infty} \|L_n f - f\|_{\rho, [0, \alpha_n]} = 0.$$

We propose the construction of a sequence of linear positive operators of Bernstein-Chlodowsky type, see [8], and study its convergence in ρ -norm using Theorem B.

There are many original constructions of sequences of linear positive operators, satisfying the conditions of Korovkin's theorem and therefore converging to continuous functions on a finite interval. One of this type of general constructions of operators was given in [5]¹ and some new properties of these operators were then investigated in [9]. The approximation problem on unbounded sets has also been investigated by many authors. But all of these results give the condition of convergence of special operators (Szász or Bernstein type) on any finite interval of the real axis or at any fixed point, see, for example, [6, 11, 7].

As may be seen, Theorem B gives the conditions of convergence of sequences of linear positive operators in weighted spaces, when the interval of convergence grows as $n \rightarrow \infty$. The consideration of general constructions of operators, satisfying the conditions of Theorem A and B is interesting. Our construction of generalized Bernstein-Chlodowsky operators is an example of such types of operators. Moreover, this is a polynomial-type construction, approximating unbounded continuous functions on unbounded sets.

2. For given positive integers n and m , let

$$\begin{aligned}
 B_{n,m}(f, x) &= \left(1 + (m - 1)\frac{x}{b_n}\right) \\
 (1) \quad &\cdot \sum_{k=0}^{[n/m]} f\left(\frac{b_n k}{n - (m - 1)k}\right) C_{n-(m-1)k}^k \left(\frac{x}{b_n}\right)^k \\
 &\cdot \left(1 - \frac{x}{b_n}\right)^{n-mk}
 \end{aligned}$$

where b_n is the increasing sequence of real numbers such that

$$(2) \quad \lim_{n \rightarrow \infty} b_n = \infty, \quad \lim_{n \rightarrow \infty} \frac{b_n}{n} = 0,$$

$0 \leq x \leq b_n$, and $[n/m]$, as usual, denotes the greatest integer less than n/m .

For $m = 1$, $B_{n,1}(f, x)$ is the well known Bernstein-Chlodowsky polynomial, see, for example, [8]. The generalization of this type for classical Bernstein polynomials is mentioned in [2].

First we study some properties of the polynomials $B_{n,m}(f, x)$. Let

$$(3) \quad A_{n,m}(x) = \frac{B_{n,m}(1, x)}{1 + (m-1)(x/b_n)}.$$

Proposition 1. For $n \geq m$ and any $x \in [0, b_n]$

$$(4) \quad A_{n,m}(x) = \left(1 - \frac{x}{b_n}\right) A_{n-1,m}\left(\frac{xb_{n-1}}{b_n}\right) + \frac{x}{b_n} A_{n-m,m}\left(\frac{xb_{n-m}}{b_n}\right).$$

Proof. By the definition of $A_{n,m}(x)$ we obtain

$$\begin{aligned} & \left(1 - \frac{x}{b_n}\right) A_{n-1,m}\left(\frac{xb_{n-1}}{b_n}\right) \\ &= \sum_{k=0}^{[(n-1)/m]} C_{n-1-(m-1)k}^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-mk}, \end{aligned}$$

and

$$\begin{aligned} & \frac{x}{b_n} A_{n-m,m}\left(\frac{xb_{n-m}}{b_n}\right) \\ &= \sum_{k=1}^{[(n-m)/m]+1} C_{n-1-(m-1)k}^{k-1} \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-mk}. \end{aligned}$$

Obviously, $[(n-m)/m] = [n/m] - 1$,

$$\left[\frac{n-1}{m}\right] = \begin{cases} [n/m] - 1 & \text{if } n/m \text{ is integer} \\ [n/m] & \text{if } n/m \text{ is fractional,} \end{cases}$$

and $C_{n-1-(m-1)k}^k + C_{n-1-(m-1)k}^{k-1} = C_{n-(m-1)k}^k$.

From this (4) follows after simple calculations. \square

Proposition 2. *Let*

$$(5) \quad K_{n,m}(x) = A_{n,m}(x) + \frac{x}{b_n} \sum_{k=1}^{m-1} A_{n-k,m} \left(\frac{xb_{n-k}}{b_n} \right).$$

Then $K_{n,m}(x) \equiv 1$ for any $x \in [0, b_n]$.

Proof. By the induction method. It is easy to see that due to (3) and (5),

$$K_{2,2}(x) = A_{2,2}(x) + \frac{x}{b_2} A_{1,2} \left(\frac{xb_1}{b_2} \right) \equiv 1.$$

Let, for any $x \in [0, b_n]$ and any $m > 2$, $K_{m,m}(x) \equiv 1$.

Then since $b_m \leq b_{m+1}$ we have

$$(6) \quad K_{m,m} \left(\frac{xb_m}{b_{m+1}} \right) \equiv 1.$$

It follows from (3) that for $x \in [0, b_n]$,

$$(7) \quad A_{m,m} \left(\frac{xb_m}{b_{m+1}} \right) = \left(1 - \frac{x}{b_{m+1}} \right)^m + \frac{x}{b_{m+1}},$$

and

$$(8) \quad A_{m-k,m} \left(\frac{xb_{m-k}}{b_m} \right) = \left(1 - \frac{x}{b_m} \right)^{m-k}, \quad k = 1, 2, \dots, m.$$

Now by (5), (4), (6), (7) and (8) we obtain

$$\begin{aligned} K_{m+1,m+1}(x) &= A_{m,m+1} \left(\frac{xb_m}{b_{m+1}} \right) + \frac{x}{b_{m+1}} A_{0,m+1} \left(\frac{xb_0}{b_{m+1}} \right) \\ &\quad + \frac{x}{b_{m+1}} \sum_{k=1}^{m-1} A_{m-k,m+1} \left(\frac{xb_{m-k}}{b_{m+1}} \right) \\ &= \left(1 - \frac{x}{b_{m+1}} \right)^m + \frac{x}{b_{m+1}} \sum_{k=1}^m A_{m-k,m+1} \left(\frac{xb_{m-k}}{b_{m+1}} \right) \\ &= \left(1 - \frac{x}{b_{m+1}} \right)^m + \frac{x}{b_{m+1}} + \frac{x}{b_{m+1}} \sum_{k=1}^{m-1} \left(1 - \frac{x}{b_{m+1}} \right)^{m-k} \\ &= K_{m,m} \left(\frac{xb_m}{b_{m+1}} \right) \equiv 1, \end{aligned}$$

and for $n = m \geq 2$ the proof is completed.

Now let in general $K_{n,m}(x) \equiv 1$ for some $n > m$ and $x \in [0, b_n]$. From (5) and (4)

$$K_{n+1,m}(x) = K_{n,m}\left(\frac{xb_n}{b_{n+1}}\right), \quad 0 \leq x \leq b_n,$$

and therefore since $b_n \leq b_{n+1}$ we have $K_{n+1,m}(x) \equiv 1$. This completes the proof. \square

Proposition 3. *Let*

$$(9) \quad \Delta_{n,m}(x) = A_{n,m}(x) - A_{n-1,m}\left(\frac{xb_{n-1}}{b_n}\right).$$

Then for all $x \in [0, b_n]$ and $n > m > 1$, the inequality

$$(10) \quad |\Delta_{n,m}(x)| \leq \left\{ (m-1) \frac{x}{b_n} \right\}^{[(n-m)/(m-1)]}$$

holds.

Proof. From (4) and (9),

$$\Delta_n(x) = \frac{x}{b_n} \left\{ A_{n-1,m}\left(\frac{xb_{n-1}}{b_n}\right) - A_{n-m,m}\left(\frac{xb_{n-m}}{b_n}\right) \right\},$$

and consequently we have

$$(11) \quad \Delta_n(x) = \frac{x}{b_n} \sum_{k=1}^{m-1} \left[A_{n-k,m}\left(\frac{xb_{n-k}}{b_n}\right) - A_{n-k-1,m}\left(\frac{xb_{n-k-1}}{b_n}\right) \right].$$

On the other hand, from (9) we obtain

$$\Delta_{n-k}(x) = A_{n-k,m}(x) - A_{n-k-1,m}\left(\frac{xb_{n-k-1}}{b_{n-k}}\right),$$

where $k < n - m$. This gives

$$\Delta_{n-k}\left(\frac{xb_{n-k}}{b_n}\right) = A_{n-k,m}\left(\frac{xb_{n-k}}{b_n}\right) - A_{n-k-1,m}\left(\frac{xb_{n-k-1}}{b_n}\right).$$

Using this formula in (11), we have

$$(12) \quad \Delta_n(x) = \frac{x}{b_n} \sum_{k=1}^{m-1} \Delta_{n-k} \left(\frac{xb_{n-k}}{b_n} \right).$$

Taking in (12) $n - 1, n - 2, \dots, n - m + 1$ instead of n , we successively obtain that

$$\Delta_{n-k}(x) = \frac{x}{b_{n-k}} \sum_{l=1}^{m-1} \Delta_{n-k-l} \left(\frac{xb_{n-k-l}}{b_{n-k}} \right),$$

and

$$(13) \quad \Delta_{n-k} \left(\frac{xb_{n-k}}{b_n} \right) = \frac{x}{b_n} \sum_{l=1}^{m-1} \Delta_{n-k-l} \left(\frac{xb_{n-k-l}}{b_n} \right),$$

where $k = 1, 2, \dots, m - 1$. Applying (13) in (12) p -times, where $p = [(n - m)/(m - 1)]$, and taking into account that $|\Delta_n(x)| \leq 1$ (since $A_{n,m}(x) \geq 0$ and (5) holds), we obtain (10). \square

Corollary 1. *Let γ_n be an increasing sequence of positive numbers and $\gamma_n < b_n/(m - 1)$, $m > 1$. Then*

$$(14) \quad A_{n-1,m} \left(\frac{xb_{n-1}}{b_n} \right) = A_{n,m}(x) + \alpha_n(x),$$

$$(15) \quad A_{n,m}(x) = \frac{1}{1 + (x/b_n)(m - 1)} + \beta_n(x),$$

where $\alpha_n(x)$ and $\beta_n(x)$ uniformly converge to zero as $n \rightarrow \infty$ on the closed interval $[0, \gamma_n]$.

Proof. Equation (14) follows from (10). Because of (14), the equality (5) may be written (for a large n) in the form

$$A_{n,m}(x) + \frac{x}{b_n}(m - 1)\{A_{n,m}(x) + \delta_n(x)\} \equiv 1,$$

where $\delta_n(x)$ uniformly converges to zero on $[0, \gamma_n]$. From this it follows that

$$A_{n,m}(x) = \frac{1}{1 + (x/b_n)(m-1)} - \frac{(x/b_n)(m-1)}{1 + (x/b_n)(m-1)} \delta_n(x),$$

which coincides with (15). \square

3. In this part we give the following theorem about the convergence of a generalized Bernstein-Chlodovsky polynomials (1) in ρ -norm

Theorem 1. *For any function $f \in C_\rho^0$ the sequence $B_{n,m}f$ converges to f in ρ -norm, that is,*

$$\lim_{n \rightarrow \infty} \|B_{n,m}f - f\|_{\rho, [0, \gamma_n]} = 0,$$

where $m > 1$ and $\gamma_n < b_n/(m-1)$.

Proof. Using Theorem B we see that it is sufficient to verify the following three conditions

$$(16) \quad \lim_{n \rightarrow \infty} \|B_{n,m}(t^\nu, x) - x^\nu\|_{\rho, [0, \gamma_n]} = 0, \quad \nu = 0, 1, 2.$$

By (3) and (15)

$$\begin{aligned} \|B_{n,m}(1, x) - 1\|_{\rho, [0, \gamma_n]} &= \sup_{0 \leq x \leq \gamma_n} \frac{1 + (m-1)(x/b_n)}{1 + x^2} |\beta_n(x)| \\ &\leq 2 \sup_{0 \leq x \leq \gamma_n} |\beta_n(x)|, \end{aligned}$$

where $\beta_n(x)$ uniformly converges to zero on $[0, \gamma_n]$. Hence the first condition of (16) is fulfilled ($\nu = 0$). Now it is easy to see that

$$B_{n,m}(t, x) = \left(1 + (m-1)\frac{x}{b_n}\right) x A_{n-m,m}\left(\frac{xb_{n-m}}{b_n}\right),$$

and due to (14) for a large n ,

$$B_{n,m}(t, x) = \left[1 + (m-1)\frac{x}{b_n}\right] x \left[A_{n,m}(x) + \alpha_n(x)\right].$$

Therefore, by (15) we have

$$\begin{aligned} \|B_{n,m}(t, x) - x\|_{\rho, [0, \gamma_n]} &= \sup_{0 \leq x \leq \gamma_n} \frac{x}{\rho(x)} \left[1 + (m-1) \frac{x}{b_n} \right] [|\alpha_n(x)| + |\beta_n(x)|] \\ &\leq 2 \sup_{0 \leq x \leq \gamma_n} [|\alpha_n(x)| + |\beta_n(x)|], \end{aligned}$$

and the condition (16) holds also for $\nu = 1$.

To verify this condition for $\nu = 2$, consider $B_{n,m}(t^2, x)$. Letting

$$\begin{aligned} p_{n,m}(x) &= \sum_{k=1}^{[n/m]} \frac{1}{n - (m-1)k} C_{n-(m-1)k-1}^{k-1} \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-mk}, \\ q_{n,m}(x) &= \sum_{k=2}^{[n/m]} \frac{k-1}{n - (m-1)k} C_{n-(m-1)k-1}^{k-1} \left(\frac{x}{b_n}\right)^{k-1} \left(1 - \frac{x}{b_n}\right)^{n-mk}, \end{aligned}$$

we see that

$$(17) \quad B_{n,m}(t^2, x) = \left(1 + (m-1) \frac{x}{b_n}\right) b_n x (p_{n,m}(x) + q_{n,m}(x)).$$

Since for $k \leq [n/m]$

$$\frac{1}{n - (m-1)k} \leq \frac{1}{n - (m-1)[n/m]} < \frac{1}{n - (m-1)(n/m)} = \frac{m}{n},$$

and $[(n-m)/m] = [n/m] - 1$, we obtain

$$(18) \quad p_{n,m}(x) < \frac{m}{n} A_{n-m,m} \left(\frac{x b_{n-m}}{b_n}\right).$$

Also, since

$$\begin{aligned} \frac{k-1}{n - (m-1)k} C_{n-(m-1)k-1}^{k-1} &= \frac{n - (m-1)k - 1}{n - (m-1)k} C_{n-(m-1)k-2}^{k-2} \\ &< C_{n-(m-1)k-2}^{k-2}, \end{aligned}$$

we have

$$(19) \quad q_{n,m}(x) < \frac{x}{b_n} A_{n-2m,m} \left(\frac{x b_{n-2m}}{b_n}\right).$$

From (17), (18) and (19), in view of (14) and (15), we obtain that, for $x \in [0, \gamma_n]$,

$$\begin{aligned} B_{n,m}(t^2, x) &< \left(1 + (m-1)\frac{x}{b_n}\right) \\ &\cdot b_n x \left\{ \frac{m}{n} [A_{n,m}(x) + \xi_n(x)] + \frac{x}{b_n} [A_{n,m}(x) + \eta_n(x)] \right\} \\ &= \left(1 + (m-1)\frac{x}{b_n}\right) b_n x \\ &\cdot \left\{ \frac{m}{n} \left[\frac{1}{1 + (m-1)(x/b_n)} + \beta_n(x) + \xi_n(x) \right] \right. \\ &\quad \left. + \frac{x}{b_n} \left[\frac{1}{1 + (m-1)(x/b_n)} + \beta_n(x) + \eta_n(x) \right] \right\} \\ &\leq x \frac{b_n}{n} m + 2mx \frac{b_n}{n} (\beta_n(x) + \xi_n(x)) \\ &\quad + 2x^2 (\beta_n(x) + \eta_n(x)) + x^2 \end{aligned}$$

holds, where $\xi_n(x)$, $\eta_n(x)$, $\beta_n(x)$ tend to zero uniformly on $[0, \gamma_n]$ as $n \rightarrow \infty$.

From this, setting

$$\phi_{n,m}(x) = x \frac{b_n}{n} m + 2mx \frac{b_n}{n} (\beta_n(x) + \xi_n(x)) + 2x^2 (\beta_n(x) + \eta_n(x)),$$

we can write

$$\begin{aligned} \|B_{n,m}(t^2, x) - x^2\|_{\rho, [0, \gamma_n]} &\leq \sup_{0 \leq x \leq \alpha_n} \frac{\phi_{n,m}(x)}{\rho(x)} \\ &< \frac{b_n}{n} m + 2m \frac{b_n}{n} \sup_{0 \leq x \leq \alpha_n} (|\beta_n(x)| + |\xi_n(x)|) \\ &\quad + 2 \sup_{0 \leq x \leq \alpha_n} (|\beta_n(x)| + |\eta_n(x)|). \end{aligned}$$

This means that the condition (1) holds also for $\nu = 2$ and by Theorem B the proof is completed. \square

Note. For a function $f(x) \equiv 1$ we have from (1)

$$B_{n,m}(1, x) = \left(1 + (m-1)\frac{x}{b_n}\right) \sum_{k=0}^{[n/m]} C_{n-(m-1)k}^k \left(\frac{x}{b_n}\right)^k \left(1 - \frac{x}{b_n}\right)^{n-mk}.$$

From this it is easy to see that, at the point $x = b_n$, $B_{n,m}(1, b_n) = m$ if n/m is an integer, $B_{n,m}(1, b_n) = 0$ if n/m is not an integer. Consequently, at $x = b_n$, $B_{n,m}(1, b_n)$ diverges.

ENDNOTES

¹In translations from Russian, A.D. Gadziej, A.D. Gadzhiev, A.D. Gadziej, and A.D. Gadźiev are the same person.

REFERENCES

1. G. Blimann, P.L. Butzer and L. Hahn, *A Bernstein-type operator approximating continuous functions on the semi-axis*, Indag. Math. **42** (1980), 255–262.
2. G.A. Fomin, *On convergence of some constructions of linear operators*, Proc. Symposium of Constructive Functions Theory, Baku, 1965 (in Russian).
3. A.D. Gadźiev, *The convergence problem for a sequence of positive linear operators on unbounded sets, and theorems analogous to that of P.P. Korovkin*, Dokl. Akad. Nauk SSSR, **218** (1974), 1001–1004. Also in Soviet Math. Dokl. **15** (1974), 1433–1436 (in English).
4. ———, *On P.P. Korovkin type theorems*, Math. Z. **20** (1976), 781–786 (in Russian).
5. A.D. Gadziej and I.I. Ibragimov, *On a sequence of linear positive operators*, Soviet Math. Dokl. **11** (1970), 1092–1095.
6. T. Herman, *Approximation of unbounded functions on unbounded interval*, Acta Math. Hungar. **29** (1977), 393–398.
7. A. Khan Rasul, *A note on a Bernstein-Type operator of Blimann, Butzer and Hahn*, J. Approx. Theory **53** (1988), 295–303.
8. G.G. Lorentz, *Bernstein polynomials*, University of Toronto Press, Toronto, 1953.
9. P. Radatz and B. Wood, *Approximating derivatives of functions unbounded on the positive axis with linear operators*, Rev. Roumaine Math. Pures Appl. **23** (1978), 771–781.

INSTITUTE OF MATHEMATICS AND MECHANICS, ACADEMY OF SCIENCES OF AZERBAIJAN, BAKU

Current address: ANKARA UNIVERSITY, DEPARTMENT OF MATHEMATICS, 06100 BEŞEVLER, ANKARA, TURKEY

INSTITUTE OF MATHEMATICS AND MECHANICS, ACADEMY OF SCIENCES OF AZERBAIJAN, BAKU

ANKARA UNIVERSITY, DEPARTMENT OF MATHEMATICS, 06100 BEŞEVLER, ANKARA, TURKEY